Bonded

3/4"8 Threaded Stud

with flat washer &
hex nut. (4-Reqd.)

24" p

o

CONTRACT NO. 87240 geeris

1 3/8"¢ Holes—1" deep in top Plate

2"i _i_Z" Conteriine for 1 1/4°0 pintles. Thread or
”» ” ” . i nierin rqg. ” oy .
| | Plate 2 1/2” Min., 2 7/8" Mox x 17" x 26" (Pier 1 & 3) AASHTO M270 Gr. 50 enterine 59 2 3/4 AR ANN press fit in bottom Plate.
E = / Plate 1 3/4" Min., 2" Mox. x 10" x 14" (Pier 4 & 6) AASHTO M270 Gr. 50 . R " |
\ ~ § P 78V ' /~P/ate " x 9" x 11 [ ﬁ :
I NE ] — N\ 7 s S\
= X Yogm B e 11475 97 x 18 1/2 I P
~ A \ f V — Layers of W Lf | I | Ll 81} |
Elastomer (55 Durometer) i | \_ Shim Plate = | | |
, 1.3/4, 7120 7 1/20 ALy
\ 41/ 1 2:1 1/8" reinforced elastomeric ’ Centerline 1°¢ x 12" Anchor bolts with
-|——  X=Y" Steel Plates neoprene leveling pad according 2 1/4" x 2 1/4" x 5/16" Plate washer under nut
» M <_| to article 1052.02 of the 18 1/2” ] 1 1/2" ¢ Holes in bottom Plate.
/2" | 12 B Standard Specifications. Cost . .
included with Structural Steel.
BEARING ASSEMBLY ELEVATION AT PIER SECTION B-B
Note:  Shim plates shall not be placed
under Bearing Assembly. S
FIXED BEARING N QJ\P
i (PIER 5(N&S) & N ABUT) 0 '
B ot Centerline Brg. 11/4%
7/8" Hole in Bott. Flange All structural steel for fixed bearings, except shim plates
shall be AASHTO M270 Gr. 50.
/—Shim Plate 2 ]‘_C_.ILL..i 2" _PINTLE
‘—‘ . n r Side Retainer (Typ.)
I Becring Assembly
il Il
Lll D D L'l
A A £ £ » »
Centerline 1 1/2°¢ x 18" Anchor boits with
A(J F 3" x 3" x 5/16” Plate washer under nut (Pier 1 & 3)
Centerline 1" x 12" Anchor bolts with
ELEVATION SECTION A-A 2 1/2" x 2 1/4" x 5/16" Plate washer under nut (Pier 4 & 6)
TYPE | ELASTOMERIC EXP. BRG.
(PIER 1, PIER 3, PIER 4(N), & PIER 6(N&S)) , SHIM PLATE TABLE
, B _or Girder | PER T PIER 31 PIER 4 | PER 5.1 PER 5 1 PIER 6 [ PILR 6 [ N_AGUT,
‘§ N 17"%26" 17"%26" 7{0")(74)" 9);73 1)2 9);78 7{2 7(0")(?4)" 7(0”)(74)" 9x18 1/2
N ™~ north south north south north
~ i 5167 = 7 - 378 3/8 - 1/2 - =
> 1/8 _H_} .
*”“ —f r 2 = 3/8 178 - = 78 -
&N
—|— <’ AN - — — —
:l. 3 U " 3 3/8 3/8 1/4 1/4
— _@__ - 1% Equivalent rolled angle with stiffeners 4 — - 774 - 1/8 — =
o . =~ will be allowed in lieu of welded plates.
0] 5/167 Centerline Z @ Hole - Q; AN Weight included with Structural Steel. 5 - — /4 - 1/4 - =
i [ - = 3/8 = /2 - -
] —_— 1
A Y| 7 — = 378 = 374 = =
P s N
SIDE RETAINER
TABLE OF DIMENSIONS
Location A B C D £ F G H / J K L M BILL OF MATERIAL
Pier 1 & 3 8" N/A 8" 127 =3 7/812=7 3741 _17" 13 3778 16 3971671 374 6 1716 Min. — 6 7/16" Max ftem Unit Total
Elastomeric Bearing
Prar #(N] & BIN&S)| 7172 5 Kid oI/ 18172 0 5 7 o [ 2177 378 T M — 4 1774 Wax Assembly Type ! Foct 33 FIXED AND
. - TYPE | ELASTOMERIC
BEARING DETAILS
. Notes: Anchor bolts at fixed bearings may be FAS 259 C.H. 3
Location N P Q R S U % W X Y 7 built into the masonry. S T R,
Prer 743 77 Wi = 2 778 Wax | 578 5172 58 T 638 [ 51/ 58 [ 234 7 377 3 16 T 374 See sheet # 33 of 38 for Anchor Bolt installation. STA. 20+15.00
STRUCTURE NO. 050-3562
Pier 4(N] & 6(N&S 1. 3/4" Min. — 2" Max. 1/2 7 1/2 4 1/4 1/2 2 1/8 3/8 3/32 17 1/4
o A0 (he? - - L 4 2 . DRAWN BY: ARR CAD: Bears REVISIONS __1 scate: NonE SHEET 43
DATE BY
3708/04&| NET
CHECKED BY: JKC DATE: 02/03 FILE NO.: 1117401 oF 78




